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JIE 5z K 4 ouT IN | GROSS| HDCP | NET &=
| HITGFS 37 39 76 | 16.4 | 59.6 {ER%
2 |lUA = 39 34 713 | 11.3 | 61.7 214
3 |EIZHHE 37 37 74 | 11.9 | 62.1 31
4 \MEPHER 41 40 81 1 16.9 | 64.1 |41
5 |mFEILE 39 39 78 | 13.7 | 64.3 51
6 EREES 45 47 92 | 32.6 | 59.4 |6HI(BREICKYERTIT)
1 1 BFHBER 34 35 69 | 9.0 | 60.0 7HGREICEYBTH. AR rTOR
8 EREE 38 34 12 | 7.6 | 64.4 8fi
9 |{&ERERA 44 44 88 1 23.2 | 64.8 |91
10 [JIEE#X 38 44 82 | 16.0 | 66.0 |1 01f&
11 /hFEED 39 40 79 | 12.9 | 66.1
12 p4figE— 40 40 80 | 13.7 | 66.3
13 &Lk 43 46 89 | 22.7 | 66.3
14 BE1EX# 36 34 70 | 3.0 | 67.0
15 |fRFAH 42 42 84 | 16.9 | 67.1
16 KE B 39 38 77 | 9.8 | 67.2
17 |28 2 40 39 79 | 11.8 | 67.2
18 |#AHBE 41 40 81 | 13.7 | 67.3
19 #&RF1XX 39 39 78 | 10.6 | 67.4
20 | HGHE=ER 49 44 93 | 25.6 | 67.4 (201
21 |\WEEFHE] 37 40 77 | 9.5 | 67.5
22 HIREZ 34 38 12 | 4.4 | 67.6
23 |'=EHAIES 41 41 82 | 14.4 | 67.6
24 |fFBRIE 42 45 87 | 19.4 | 67.6
25 | REXIA 44 42 86 | 18.3 | 67.7
26 |;EEFHA 41 43 84 | 15.7 | 68.3
27 oK B 44 47 91 | 21.9 | 69.1
28 |IUHhIFtH 41 36 77 | 7.4 | 69.6
29 |R #E 43 45 88 | 18.2 | 69.8
30 (Zl & 39 46 85 | 15.1 69.9 3011
31 |[ERAFTE 44 42 86 | 15.7 | 70.3
32 |BR & 38 39 77 | 6.6 | 70.4
33 B R 42 43 85 | 14.6 | 70.4
34 | BXRIEB 41 43 84 | 13.3 | 70.7
3B |=F 1E 37 43 80 | 9.1 70.9
36 JIlO&z 44 38 82 | 10.8 | 71.2
37 INAEH 38 40 18| 6.6 | 71.4
38 HE{EH 46 46 92 | 20.5 | 71.5
9 EE — 44 38 82 | 9.5 | 72.5
40 BREEAP 48 48 96 | 23.1 12.9 40141
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B2 K £ ouT IN | GROSS | HDGP NET &5
A1 mHMKF 37 43 80 7.0 73.0
42 E#AF5HA 40 48 88 | 14.8 13.2
43 BHFE= 39 42 81 6.9 74.1
44 | AKIEH 317 49 86 | 11.6 14. 4
45 |ZRILFNFR 52 48 100 | 24.0 76.0
46 X¥F o b4 49 103 | 26.3 16.7
47 |hEEFH 43 45 88 | 10.6 17.4
48 HEXE 47 44 91 | 13.5 11.5
49 |tBFH==1h 42 44 86 7.6 78. 4
50 | =HFEERE 47 42 89 | 10.1 78.9 |501I
51 [IUARF05h 43 49 92 | 12.8 79.2
52 \{ERE ¥ 44 54 98 | 18.3 19.7
53 |FIEF 57 44 101 | 20.3 80.7
54 |FHIJIIEEH 54 63 117 | 36.0 81.0 | J—E—E
5% EH = 47 53 100 | 17.9 82.1
ABEKE 21.3 N. R
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